Y3 Quick Starts

100 more 100 less

37
78
56

20+10+=

7x5=

How many tens in the number 378?
100—44-=

69 + 28-=

Circle the even numbers: 308, 472, 288, 301

1/2 of 22 =

Which number is smaller: 898 or 288?
7+3+b=
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100 more 100 less

37
78
56

20+10+=

7x5=

How many tens in the number 378?
100—44-=

69 + 28-=

Circle the even numbers: 308, 472, 288, 301
1/2 of 22 =

. Which number is smaller: 898 or 288?

10. 7+ 3+5=

OV 0 N OO A w N




Y3 Quick Starts

100 more 100 less

637
578
506

50+ 10 =

8x5H-=

How many tens in the number 888?
100—31=

77 +13=

Circle the even numbers: 355, 896, 502, 313
1/2 of 44 =

. Which number is smaller: 987 or 978?

10. 6+2+6=
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100 more 100 less

637
578
506

50+ 10 =

8x5b=

How many tens in the number 8882

100—31 =

77 +13=

Circle the even numbers: 355, 896, 502, 313
1/2 of 44 =

. Which number is smaller: 987 or 978?

10. 6+2+6=

0 0 N OO A w N
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1. 100 more 100 less
689

892
945

100+ 10 =

8x2:=

How many tens in the number 613?

100—39 =

86 + 24=

Circle the even numbers: 388, 700, 555, 989

1/2 of 63 =

Which number is smaller: 897 or 631?
7+2+5=
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1. 100 more 100 less
689

892
945

100-+10=

8x2-=

How many tens in the number 613?

100—39 =

86 + 24=

Circle the even numbers: 388, 700, 555, 989
1/2 of 63 =

. Which number is smaller: 897 or 631?

10, 7+2+5-=

OV 0 N OO A w N
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1. 100 more 100 less
179

657
971

25+ 5=

7x 3 =

How many tens in the humber 605?

100—21 =

98 + 32=

Circle the even numbers: 311, 632, 987, 1000

1/2 of 48 =

Which number is smaller: 872 or 827?
8+2+9=
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1. 100 more 100 less
179

657
971

25+ 5=

7x 3 =

How many tens in the number 605?

100—-21 =

98 + 32=

Circle the even numbers: 311, 632, 987, 1000
1/2 of 48 =

. Which number is smaller: 872 or 827?

10. 8+2+9=

0 0 N OO A w N
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1. 100 more 100 less
502

888
999

24+ 2 =

9x b =

How many tens in the humber 835?

100—72=

89 + 44-=

Circle the even numbers: 400, 417, 989, 1008
1/2 of 66 =

. Which number is smaller: 987 or 978?

10. 8+6+4-=
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1. 100 more 100 less
502

888
999

24+ 2 =

9% 5 =

How many tens in the number 835?

100—72=

89 + 44-=

Circle the even numbers: 400, 417, 989, 1008
1/2 of 66 =

. Which number is smaller: 987 or 978?

10. 8+6+4-=

0 0 N OO A w N




